



























































6& 20 women can fnish & pisce of work in 16 days and 16 men ean finish it in 15 deys. What ie
the ratio of the working capacities of & man snd 8 women?
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102. The disgonal of a square having an area of /2 hectare is

(A&  BDm, B) &2 m M) 260 m

103. T£F ané Fare independent events such that P(E)=07 asd PIF)=038 thex P(E - F) is
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104, If the geometric mesn of z, 18, 50 be 20, then the value of x ia
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105. The slope of the line joining A(-3, 5) and B4, ) is
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